Heckonbko cnoco6oB pacyeTa MOLWWHOCTU OnNA noAKNnKw4YeHuAa K IMHUU B o6LemM nonb3oBaHNKU

Cnoco6 coeanHeHus 3Hak Kon-Bo dasHoe dasHoe Pa3HbIN O6wasn MoLwWHOCTb
anemeHTOB (N0.) HanpsikeHue (B) conpotuBneHue (Q) notok (A) (xBT)

OpHodasHoe + n Ux=U Rx=nr Ix=U/(nr) Nx=U?/(103nr)

nocnepoBaTtefibHOe coeAuHeHue

MapannenbHoe ¢asHoe n Ux=U Rx=nr Ix=Un/r Nx=nU2%/(10%r)

coeAuHeHue

CoeauHeHue TpeyrosibHUKOM A n Ux=U Rx=n Ix=U/R Nx=3U?/(10%r)

CoeauHeHue 3Be3nou Y n Ux=U/3 % Rx=n IX=UxX/RX Nx=Uz2/(10%r)



